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1. Complete the following DEFinitions: ~ oY
a. The vectors vy, vy, . ..., v, are linearly independent if and only if
bt v s kewasa gty @i ke

b. A subset W of a vector space V is a subspace of V if and only if
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2. Complete and prove: | (15)

a. For a fixed mxn matrix A, the set of all X such that Ax = 0 is a
A/subspace of _27 .
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4 ¥b. If Als invertible, then det A% 0 .
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3. Write the elementary matrix which adds 2 x first row to the third row

of a 3x3 matrix. (5)
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4. Are the following vectors in R linearly independent? Justify. GO) I/
(1,0,0,1), (2,2,-2.2), (-1,1,1,-1).
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5. Verify that the set of all polynomials of the form ax® + ax + b is a e

subspace of Pj. | i/(]O) ifjj
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6. Find . (5)
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7. Find a unit vector parallel to (1,2,3). (5)
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9. Give an example of matrices A and B where AB = 0, but Az Q and B = O.
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10. Complete the following operations (if not possible, say so.) (10)
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11. Gwe all. solutions for the following system of equations in-matrix-form.
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12. Express the matrix A as a linear combination of B and C if possible.
}
Am{so},8={1a},0={z1}
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